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FRYFE 45 RITRHOMRF—LHRE 19 REHRBELER

M xe (02, 1l<e*<e’.

(D Ma<inm, f'(x)>0, f(x)7(0,2] .

YEHK f0)=1+a<2, f(2)=e*-a>0.
Fitil+a<0, Wa<-18f, f(x)7E(0,2] bA—"F A
Hl+a>0, Bl-1<a<1wf, f(x)7E(0,2] LEZ="5.

(2) Ha>e’nf, f'(x)<0, f(x)7(0,2]\.

fif(0)=1+a>0, f(2)=e’—a<0. # f(x)7%(0,2] FH EA.
(3) Ha=e’nf, f'(x)<0, f(x)7(0,2]\.

Mif(2)=e?—a=0. # f(x) 7 (0,2] b/ %M.
(4) Hl<a<e’nt, 4 f'(x)=0, Hx=Ina.

g f(x)7£(0,Ina) v, 7£(Ina,2) /.

im f(lna)=a(2—Ina) >0, #Hutwf f(x) 7E(0,2] LIF M.

gib: M-1<a<e’nt, f(x)7E(0,2] LEH%M;

Ya<-laa>e’n, f(x)7E(0,2] EH A,



